Math 104







Name:

Activity

Graphical Exploration of Identities

Graph the function y =
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on your calculator.  The standard window will work but you will make it clearer by doing a ZOOM 7:Trig.  

Does the graph appear sinusoidal?

Give a rough sketch of the function here:

What appears to be the amplitude?

What appears to be the period?

What appears to be the phase shift? (assuming this is a sine function)

Based on the answers given above, express the function in terms of the sine function only.

You now may set the formula from the previous answer equal to 
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and you will have an apparent identity.  (Note that this based on appearances.   You have not proven the identity; you have just made it seem reasonable.)

Apparent Identity:

Since you have already graphed the function from the left hand side of the identity, try graphing the function from the right side.  If the two graphs are superimposed and look like one graph, it makes it even more likely that your identity is correct.

Bonus: Try to use a graph to fill in the right hand side of the following identity. (Remember that you cannot enter any trig functions directly into the calculator except the sine, cosine, and tangent functions.)


[image: image3.wmf]=

+

+

)

3

csc(

)

3

sec(

)

3

cot(

1

x

x

x























_1093003832.unknown

_1093170025.unknown

